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WppRRER, AEEX TR RIRIERAREINEIRSES.
AUEAHFENT :

1. RERATRECPU, RFIER, THR%EEN; EOFARLTREKE.
2. EHFRIIEEME T, BRERENANEREE, BERFHE.

|
0

M ERIHES RS, SHTTRENERATRENE EREREES, SETRERZIIRIM.

MERSERAESE: TRAIMSENERRER, REETRNGESE, BEHR
MHITERDR, BE—FRIRNORER—GIRSE. ATHERSHRESE
MERUSTERRNES R, ITRETEEREE.
tERSHRRESE: BT ANRINSEMERREEZI, ERBINARRES.,
EETRRNGENE, BOHRURRNRSHTRERT, REETIOREHT
BENk, ERERKSEEZSMIEENRSE, NI WSS EEE 2RSS
FREIDE. FUtRABMIREHRERNES, FRtREREE, RENEIHE
. . HRESHHISZEIN,

RIB EAREEEREFE, EPHEENEZIXMIE, ERBRIZIAM,

BESXFRER, BAMNEERE. WM AER, HESFmMIRSR ETEEE. TR
FELBIR#_EHEN T R EERIERMR S THHT.

1. NEIT-BRUEBMERE, SFEE2.58 MB/s, FISLhR FEEPIERELRS,

M Wireshark - HOHHBIE - 6.cap — m] X
Eiige)

T =

Pl Bk BST finie}

S 10001 5146 (51.5%) —

[SiElEEN 2.063 2.019 —

FH pps 48483 25493 —

FHSEANB 1034 1014 —

E=3 10343704 5220358 (50.5%) 0

T /R 5014k —

P BUAS/RD 40M 20M —

v

2. NOHT-EREBNETRE, IREEESTRE, UFLERHFEE,

=B e ki Y it#
>

> Warning This frame is a (suspected) out-of-order segment Sequence TCP

> Warning Previous segment(s) not captured (common at capture start) Sequence TCP

> Warning Illegal characters found in header name Protocol HTTP

> Note This frame is a (suspected) spurious retransmission Sequence TCP

5> Note This frame is a (suspected) fast retransmission Sequence TCP

> Note This frame is a (suspected) retransmission Sequence TCP

> Note Duplicate ACK Sequence TCP

3. BESH-TCPREN MHEFIEE, KIMIRSE (ip.addr ==62.136.1.90) EELELBIRE(ip.addr
== 62.136.1.9)AIRHMRIFTERSIE, BUARIE T—NFIISIRARHRSEZR KA A,

=] (Slevens)ﬁ:{ 62.136.1.90:80 — 62.136.1.9:14450 I

6.cap
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EMERZIRSAERTLUR RS SR A IXEERIATEZ (No.261170N0.2660) K£I7E180 msHIRTE), 1
80 msHIREIRS F T EGEAIHIME+ D EXH.




:05 2972-06-29 04:57:26.533406  62.136.1.90 62.136.1.9 P 128 ex2463 (9315) 1492 50 » 14450
2609 2022-06-09 04:57:26.833408  62.136.1.90 62.136.1.9 128 0x2464 49;16) 1492 80 + 14450

AT

ACK] $eq=1276001 Ack=1 Win-8235 Len=1446 Tsval=3264665
ACK] Seq-1277441 Ack=1 Win=8235 Len-1440 Tsval-3264666

[
[
62,136.1.9 ‘ 62.136.1.9 0x2465 . 80+ 14450 [PSH, ACK] Seq=1278881 Ack=1 Win=8235 Len=1120 Tsval=32
iNagles 5 %L 2ibs ,-'-)s By o A e
87.136.1. 62.13671.90 255 Oxd03f (53343) 80 [/ TSval=326527420=——
L in- -
¢

2620 2022-06-09 62.136.1.9 62.136.1.90 255 exdo62 (53346) 52 14450 > 80 Tsval=326527420=—=
2623 2022-06-09 62.136.1.9 62.136.1.90 Tcp 255 oxdoss (53349) 52 14450 » 80

2628 2022-06-09 62.136.1.9 62.136.1.90 Tcp 255 oxdoes (53352) 52 14450 > 80 TSval=326527420
2631 2022-06-09 126. 62.136.1.9 Tcp 255 exdoeb (53355) 52 14450 > 80 Tsval=326527420
2636 2022-06-09 04:57:26.833737  62.136.1.9 o 255 oxdoce (53358) 52 14450 > 80 1 Win=65535 Len=0 Tsval=326527420
2639 2022-06-09 04:57:26.833797  62.136.1.9 B Seq=1 Ack-1267361 Kin=65535 Len-0 TSval-326527420——

2642 2022-06-09 04:57:26.833847  62.136.1.9
2647 2022-06-09 04:57:26.833905  62.136.1.9
2650 2022-06-09 04:57:26.833955  62.136.1.9
2655 2022-06-09

5535 Len=0
Seq=1 Ack=1273121 Win=65535 Len=0 TSval=326527420;
Seq=1 ACk=1276001 Win=65535 Len-0 TSval=326527420]
Win=65535 Len=0

(9388) 1492 [8 [ACK]
62.136.1.90 62.136.1.9 e 128 ox24ad (9389) 1492 86 - 14450 [ACK] 5eq-1281441 ACK=1 Win=8235 Len-1440 T5val-3264666

LR ARESEIRS S RESIRERRHEE X MERIE, Bl EoHrilE AT LAEEINo.2611 (Seq
+Len) AIBHIAIRSCENO.2659(Ack), LA MRXAIRTEEERIFEIRALIFZ180 ms, XBEEHRE
RLBackIIMRIGERRIZT . MISSRENTF RIRS HFESFILBIRENACKIAG I SRET—
MR,

2608 2022-06-09 04:57:26.833406  62.136.1.90 62.136.1.9 Tcp 128 0x2463 (9315) 1492 80 + 14450 [ACK] Seq=1276001 Ack=1 Win-8235 Len=1440 Tsval-3264666

2609 2022-06-09 04:57:26.833408  62.136.1.90 62.136.1.9 Tcp 128 ox2464 (9316) 1492 80 -+ 14450 [ACK] i el
2611 2022-06-00 04:57:26.833423  62.136.1.90 62.136.1.9 TP 128 ox2466 (9318) 1172 80 » 14450 [PsH,
2612 2022-06-09 62.136.1.9 62.136.1.90 e 255 oxdosc (53346) 52 14450 > 80 [ACK] Seq=T
2615 2022-06-09

cp 255 oxdest (53343) 52 14456 > 80 [ACK] Seq=1 e e e
2620 2022-06-09 62.136.1.9 P 255 exdoe2 (53346) 52 14450 » 80 [ACK] Tsval-326527420=—=
2623 2022-06-09 62.136.1.9 e 255 exdoes (53349) 52 14450 » 80 [ACK] Tsval-326527420___
2628 2022-06-09 62.136.1.9 Tcp 255 oxdoes (53352) 52 14250 » 80 [ACK] Tsval-326527420
2631 2022-06-09 04:57:26.833687  62.136.1.9 P 255 oxdoe (53355) 52 14456 > 80 [ACK] Tsval=326527420
2636 2022-06-09 04:57:26.833737 e 255 exdece (53358) 52 14450 » 80 [ACK] Seq=1 Ack-1264451 -0 Tsval=326527420
2639 2022-06-09 04:57:26.833797 e 255 exdo71 (53361) 52 14450 + 80 [ACK] Ack=1267361 Tsval-326527420——
Tcp 255 oxdo7a (53264) 52 1450 » 80 [ACK] —
P 255 oxd077 (53267) 52 14450 » 80 [ACK] Ack=1273121 Tval=326527420——
Tcp 255 exdera (53370) 52 14450 > 80 [AK]
255 oxdord (53373) 52 14450 > 80 [ACK]

1
ox24ac (9388) 1492 80 -+ 14450
e 128 ox24ad (9389) 1492 80 + 14450 [ACK] Se
2662 2022-06-09 04:57:27.019680  62.136.1.90 62.136.1.9 e 128 ox242e (9390) 1492 80 + 14450 [ACK] Seq=1282881 Ack=1 Win-8235 Len=1440 Tsval-3264666
>

Transmission Control Protocol, Src Port: 89, Dst Port: 14450, Seq: 1278881, Ack: 1, Len: 1120

Source port: 80

Destination Port: 14250

[Strean index: 1]

[Conversation completeness: Incomplete (12)]

[TCP Segnent Len: 1120]

Sequence Nunber: 1278881  (relative sequence number)

quence Nuaher (cau):
[[thext sequence nunber: 1230001 (relative sequence number)] |
bR T (FETSETve™3ck FOBer)
Acknouledgnent. nunber (ran): 1959233160
1000 Header Length: 32 bytes (s)

IS PO ITEIXERER T, M — FLBHTH~

ERILIEE—T, AARERS AR LBISE HIGERMENIERIE? BRAIME I LAEIR
22, XiENo0.2608, No.2609LAKN0.2655#R AT, LBEEBHNTCPLEHMA—IX (LB.Ack==Ser
verfJSeg+Len) , #0TF:

2601 2022-06-09 04:57:26.833324  62.136.1.90 62.136.1.9 T 128 ox2460 (9312) 1492 80 » 14450 235 Len-1440 Tsval=3264666
2602 2022-06-09 64:57:26.833326  62.136.1.90 62.136.1.9 Tce 128 6x2461 (9313) 1492 80 ~ 14450 '
2605 2022-06-09 04:57:26.833361  62.136.1.9 62.136.1.90 T 255 oxdeso (53337) 52 14250 » 80

2608 2022-06-09 04:57:26.833406  62.136.1.90 62.136.1.9 Tcp 128 6x2463 (9315) 1492 86 > 14450

2609 2022-06-09 04:57:26.833408  62.136.1.90 62.136.1.9 T 128 6x2464 (9316) 1492 80 » 14450

2611 2022-06-09 04:57:26.833423  62.136.1.90 62.136.1.9 Tcp 128 ox2466 (9318) 1172 86 » 14450

2612 2022-06-09 04:57:26.833427  62.136.1.9 62.136.1.90 e 255 6xdesc (53340) 52 14450 » 80 =65535 Len-0

2615 2022-06-09 04:57:26.833479  62.136.1.9 62.136.1.90 T 255 oxdesf (53343) 52 14250 » 80 535 Len-0

2620 2022-06-09 04:57:26.833534  62.136.1.9 62.136.1.90 e 255 6xdes2 (53346) 52 14450 > 80 5535 Len-0

2623 2022-06-09 04:57:26.833585  62.136.1.9 62.136.1.90 T 255 oxdees (53349) 52 14250 » 80 5535 Len=o

2628 2022-06-09 04:57:26.833636  62.136.1.9 62.136.1.90 Tcp 255 oxdoss (53352) 52 14450 > 80

2631 2022-06-09 04:57:26.833687  62.136.1.9 62.136.1.90 Tep 255 oxdosb (53355) 52 14450 > 80

2636 2022-06-09 04:57:26.833737  62.136.1.9 62.136.1.90 Tcp 255 oxdose (53358) 52 14450 > 80

2639 2022-06-09 04:57:26.833797  62.136.1.9 62.136.1.90 Tep 255 oxde71 (53361) 52 14450 > 80

2642 2022-06-09 04:57:26.833847  62.136.1.9 62.136.1.90 TP 255 exde7a (53364) 52 14450 > 80 TSval=326527420=
2647 2022-06-09 04:57:26.833905  62.136.1.9 62.136.1.90 Tcp 255 oxde77 (53367) 52 14450 > 80 rsval—szsszuza
2650 2022-06-09 04:57:26.833955  62.136.1.9 62.136.1.90 TP 255 exde7a (53370) 52 14450 > 50 o Tsval-326527420=
2655 2022-06-09 04:57:26.834008  62.136.1.9 62.136.1.90 Tce 255 exdord (53373) 52 [{d4505 80 stal 536537430

TIRIEIREIAIN0.26 1 HIRIEIFRTCPHRE— 1 0ER, BULBREMZEESE— el s ERTATE
(TCP delay ack#fl#l) AEHiA.
BBAETFLLLER B8R, NARRHAFERAKTCPIEHIIZFA T Nagle&
%, BMENFLIEE—T. TSRS NREREMIER\FMSS, BSETIHRIACKTA
EASMEERIERIRE. TEX MBS
if B EHFEERE
if 24 Eid MSS (Bf—A> TCP &7 RESE T ) B
VB A IE
else
if ZH)%& HERBIEEARBIA
HBIREFERER, E8 NSS iFHIABIEBE &%
else
SRR %
end if
end if
end if

REHEE)

ABANagleEEFILBIEIRFHARINE (7ESLBERISEIIZTCP delay ack, #ERNZ., BI200=ERT
fRAKEIRANTCPDER, KIXTCP ACK; ERENATCPORR, ERRSERIEAIETCP ACK) filfE
F—i, LM TIHXFELR.
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